

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form **990-PF**

Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

OMB No 1545-0052

Department of the Treasury
Internal Revenue Service

For calendar year 2013 or tax year beginning

Do not enter Social Security numbers on this form as it may be made public.

▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

		vaici	idal year 2010 of tax year beginning		, and ending		
	Nar	ne of	foundation			A Employer identificatio	n number
	т	HE	PARVEEN AND NEERAJ JAI	N ENDOWMENT		47-0934264	1
			and street (or P O box number if mail is not delivered to street	Room/surte	B Telephone number		
	2	63	6 GAYLEY PLACE				-0170
	City	or to	own, state or province, country, and ZIP or foreign p	ostal code		C if exemption application is	
	S	AN	JOSE, CA 95135			, , , , , , , , , , , , , , , , , , , ,	,
	G C	heck	all that apply: Initial return	Initial return of a fo	rmer public charity	D 1. Foreign organization	s, check here
			Final return	Amended return			
			Address change	Name change		Foreign organizations m check here and attach c	eeting the 85% test, omputation
	H C	_	type of organization: X Section 501(c)(3) ex		·	E If private foundation sta	atus was terminated
	느			Other taxable private founda		under section 507(b)(1)(A), check here
			arket value of all assets at end of year J Account	~	Accrual	F If the foundation is in a	
				ther (specify)		under section 507(b)(1)(B), check here
	Do		226, 436. (Part I, colu Analysis of Revenue and Expenses				[(d) =
	Ра	II L	(The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a))	(a) Revenue and expenses per books	(b) Net investment income	(c) Adjusted net income	(d) Disbursements for charitable purposes
		1	Contributions, gifts, grants, etc., received	50,000.		N/A	(cash basis only)
		2	Check fromdation is not required to attach Sch 8	30,000.		N/A	
		3	Interest on savings and temporary cash investments	-		<u></u>	
		4	Dividends and interest from securities	11,609.	11,609.		STATEMENT 2
		5a	Gross rents				
		b	Net rental income or (loss)				<u> </u>
	9	6a	Net gain or (loss) from sale of assets not on line 10	28,388.			STATEMENT 1
	nua	b	Gross sales price for all assets on line 6a 97,982.				
	Revenue		Capital gain net income (from Part IV, line 2)		28,389.		
	_		Net short-term capital gain				
		9	Income modifications Gross sales less returns				
			and allowances Less Cost of goods sold				
			Gross profit or (loss)				
2014			Other income				, se
		12	Total. Add lines 1 through 11	89,997.	39,998.		
0		13	Compensation of officers, directors, trustees, etc	0.	0.		0.
z		14	Other employee salaries and wages				
S	m	15 -	Pension plans, employee benefits				
•	ses	16a	Lega fees EIVED STMT 3		 		
<u>u</u>	Expen	-629	Accounting tees STMT 3	2,180.	2,180.		0.
Z	Ē	Ö	Other professional fees STMT 4	4,136.	4,136.		0.
CANNED	tiv	1 <u>7</u> 18	Interest 1 9 2014 STMT 5	56.	F.C.	ļ	
Ú	stre	19	MACON Cabildon being	30.	56.		0.
	ini	20	Declegation and depletion		-		
	Adn	21	Travel, conferences, and meetings			-	
	Б	22	Printing and publications				
	ga	23	Other expenses STMT 6	2,442.	2,442.		0.
	Operating and Administrative		Total operating and administrative				
	per		expenses. Add lines 13 through 23	8,814.	8,814.		0.
	0	25	Contributions, gifts, grants paid	180,310.			180,310.
		26	Total expenses and disbursements.				
			Add lines 24 and 25	189,124.	8,814.		180,310.
		Į.	·				,
		i	Excess of revenue over expenses and disbursements	-99,127.	21 104	ļ	
		ì	Net investment income (if negative, enter -0-)	 	31,184.	N/A	, ;
		ו נ	Adjusted net income (if negative, enter -0-)	ı		I N/A	1

Б	art	Balance Sheets Attached schedules and amounts in the description	Beginning of year	End of	year
ᄕ	ai t	column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing	50,224.	-297.	-297.
	2	Savings and temporary cash investments	16,111.		
	3	Accounts receivable ► 1,022.		·	
		Less; allowance for doubtful accounts		1,022.	1,022.
	4	Pledges receivable ►			
		Less; allowance for doubtful accounts			
	5	Grants receivable			
	I -	Receivables due from officers, directors, trustees, and other			
	ľ				
	_	disqualified persons			
	7	Other notes and loans receivable		-	j
	١.	Less: allowance for doubtful accounts			
ets	8	Inventories for sale or use			
Assets	9	Prepaid expenses and deferred charges			
⋖	10a	Investments - U.S. and state government obligations			
	b	Investments - corporate stock STMT 7	206,819.	173,302.	225,711.
	c	Investments - corporate bonds			
	11	Investments - land, buildings, and equipment basis			
		Less accumulated depreciation	-		
	12	Investments - mortgage loans			
	13	Investments - other			
	l	Land, buildings, and equipment basis			
	l ' '	Less accumulated depreciation	the suffer on		
	15	Other assets (describe			
		` 			
	''	Total assets (to be completed by all filers - see the	272 154	174 007	006 406
	47	instructions. Also, see page 1, item 1)	273,154.	174,027.	226,436.
	l	Accounts payable and accrued expenses			Ì
	18	Grants payable			1
es	19	Deferred revenue			!
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			,
ge	21	Mortgages and other notes payable			1
_	22	Other liabilities (describe >)			1
					_
	23	Total liabilities (add lines 17 through 22)	0.	0.	
		Foundations that follow SFAS 117, check here			
		and complete lines 24 through 26 and lines 30 and 31.			
es	24	Unrestricted			' :
anc	25	Temporarily restricted			i
3ag		Permanently restricted			
ᅙ	•	Foundations that do not follow SFAS 117, check here			
בַּ					
Net Assets or Fund Balanc		and complete lines 27 through 31.	_		
ţ	27	Capital stock, trust principal, or current funds	0.	0.	
SSe	28	Paid-in or capital surplus, or land, bldg., and equipment fund	0.	0.	
Ž	29	Retained earnings, accumulated income, endowment, or other funds	273,154.	174,027.	
ž	30	Total net assets or fund balances	273,154.	174,027.	<u> </u>
	Ì				ı
	31	Total liabilities and net assets/fund balances	273,154.	174,027.	
Ē	art	Analysis of Changes in Net Assets or Fund Ba	lances		
=					
		net assets or fund balances at beginning of year - Part II, column (a), line 30)		
		st agree with end-of-year figure reported on prior year's return)	•	1	273,154.
		r amount from Part I, line 27a	•	2	-99,127.
		r increases not included in line 2 (itemize)		3	0.
4	Add	lines 1, 2, and 3		4	174,027.
5	Decr	eases not included in line 2 (itemize)		5	0.
R	Total	net assets or fund halances at end of year (line 4 minus line 5) - Part II coli	imp (h) line 20		17/ 027

THE PARVEEN AND NEERAJ JAIN ENDOWMENT

47-0934264

Page 2

Form 990-PF (2013)

48,693.

180,310.

7

8

7 Add lines 5 and 6

See the Part VI instructions.

8 Enter qualifying distributions from Part XII, line 4

If line 8 is equal to or greater than line 7, check the box in Part VI, line 1b, and complete that part using a 1% tax rate.

	990-PF (2013) THE PARVEEN AND NEERAJ JAIN ENDO				<u>0934</u>			Page 4
Pa	rt VI Excise Tax Based on Investment Income (Section 4940(a)), 4940(b), 4	1940(e), or 4	948	- see ii	nstrı	ıctio	ns)
1a	Exempt operating foundations described in section 4940(d)(2), check here and enter	"N/A" on line 1.	J					
	Date of ruling or determination letter: (attach copy of letter if necessa	ary-see instruct	ions)				_	
þ	Domestic foundations that meet the section 4940(e) requirements in Part V, check here 🕒 🗵	🗓 and enter 1%	6)	1		_	3	12.
	of Part I, line 27b							
	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of P		l. (b).					
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others	enter -0-)		2				0.
3	Add lines 1 and 2			3			3	12.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others	s enter -0-)		4		-		0.
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-	-		5			3	<u>12.</u>
6	Credits/Payments:							
a	2013 estimated tax payments and 2012 overpayment credited to 2013	Sa						
þ	Exempt foreign organizations - tax withheld at source . 6	6b						
C	Tax paid with application for extension of time to file (Form 8868)	Sc _		_				
d	Backup withholding erroneously withheld . 6	id						
7	Total credits and payments. Add lines 6a through 6d			7				0.
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached	i		8	_			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed		. •	9			3	12.
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid	-	▶	10				
	Enter the amount of line 10 to be: Credited to 2014 estimated tax		Refunded ▶	11				
Pa	rt VII-A Statements Regarding Activities	<u> </u>						
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation	n or did it partici	pate or intervene	in			Yes	No
	any political campaign?					1a		X
þ	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (s	see instructions	for the definition)?		1b		X
	If the answer is "Yes" to $_{1a}$ or $_{1b}$, attach a detailed description of the activities and co	opies of any ma	aterials publishe	ed or				
	distributed by the foundation in connection with the activities.							
C	Did the foundation file Form 1120-POL for this year?					10		X
đ	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year	r:						
	(1) On the foundation. ▶ \$ 0 . (2) On foundation managers. ▶	\$	0.					
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure	tax imposed on	foundation					
	managers. ► \$ 0.							
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?					2		X
	If "Yes," attach a detailed description of the activities.							
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instru	ument, articles o	f incorporation, o	r				
	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes		-		- 1	3		X
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	-				4a		X
b	If "Yes," has it filed a tax return on Form 990-T for this year?			N	/A	4b		
	Was there a liquidation, termination, dissolution, or substantial contraction during the year?					5		Х
	If "Yes," attach the statement required by General Instruction T.							
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:				ŀ			
	By language in the governing instrument, or							
	 By state legislation that effectively amends the governing instrument so that no mandatory dire 	ections that con	flict with the state	law				
	remain in the governing instrument?					6	X	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete	te Part II, col.	c), and Part XV			7	X	
						,		,
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)					>		1
	CA					, ,		,
	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorno	ey General (or d	esignate)				*	
	of each state as required by General Instruction G? If "No," attach explanation				Į	8b	X	
	Is the foundation claiming status as a private operating foundation within the meaning of section		942(j)(5) for cale	ndar				
	year 2013 or the taxable year beginning in 2013 (see instructions for Part XIV)? If "Yes," comp	olete Part XIV				9		X
10	Did any persons become substantial contributors during the tay year?					40		v

	990-PF (2013) THE PARVEEN AND NEERAJ JAIN ENDOWMENT 47-0934	1264		Page 5
	art VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of	1		
40	section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		X
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges?			.,,
40	If "Yes," attach statement (see instructions)	12		X
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	<u>X</u>	
	Website address ► N/A The books are in care of ► PARVEEN JAIN Telephone no. ► (408)	701	<u> </u>	70
14		781	_ U T	70
	Located at ► 2636 GAYLEY PLACE, SAN JOSE, CA ZIP+4 ►95	7132		
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here		,,▶	· []
40	and enter the amount of tax-exempt interest received or accrued during the year		/ <u>A</u>	
10	At any time during calendar year 2013, did the foundation have an interest in or a signature or other authority over a bank,	ı I	Yes	
	securities, or other financial account in a foreign country?	16		X
	See the instructions for exceptions and filing requirements for Form TD F 90-22.1. If "Yes," enter the name of the foreign			:
Pa	country art VII-B Statements Regarding Activities for Which Form 4720 May Be Required	<u> </u>		
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.	T	Yes	No
18	During the year did the foundation (either directly or indirectly):			110
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person?	1 1		
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)			,
	a disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person?			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person?			i
	(5) Transfer any income or assets to a disqualified person (or make any of either available			
	for the benefit or use of a disqualified person)?			!
	(6) Agree to pay money or property to a government official? (Exception. Check 'No'			
	If the foundation agreed to make a grant to or to employ the official for a period after			i
		1 1		
1		1 1		!
	olf any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations	1	-	
	section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)? N/A	1b		
	Organizations relying on a current notice regarding disaster assistance check here			
C	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected	J		<u></u> _
_	before the first day of the tax year beginning in 2013?	1c		X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation			;
	defined in section 4942(j)(3) or 4942(j)(5));			,
а	a At the end of tax year 2013, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning	1 1		:
	before 2013?			İ
	If "Yes," list the years	1 1		1
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect			
	valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach			
	statement - see instructions.) N/A	2b		
C	: If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.			
	▶ , ,, ,, ,, ,, ,		l	i
38	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time			Ì
	during the year?			,
t	olf "Yes," did it have excess business holdings in 2013 as a result of (1) any purchase by the foundation or disqualified persons after			;
	May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose			4
	of holdings acquired by gift or bequest, or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,			
	Form 4720, to determine if the foundation had excess business holdings in 2013.) N/A	3b		
4 a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		<u> </u>
	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that			
	had not been removed from jeopardy before the first day of the tax year beginning in 2013?	4b		X

Form 990-Pr (2013) THE PARVEEN AND NEERAU U.) oguired :	47-09342	64 Page 6
Part VII-B Statements Regarding Activities for Which F	orm 4/20 May Be F	requirea (contin	ued)	
5a During the year did the foundation pay or incur any amount to:	- 4045/->>0		<u>™</u>	
(1) Carry on propaganda, or otherwise attempt to influence legislation (section	, ,,	-	es X No	
(2) Influence the outcome of any specific public election (see section 4955); o	r to carry on, directly or indire		च्चि	
any voter registration drive?	0		es X No	
(3) Provide a grant to an individual for travel, study, or other similar purposes'		Y(es X No	
(4) Provide a grant to an organization other than a charitable, etc., organization	n described in section	<u></u>	[]	
509(a)(1), (2), or (3), or section 4940(d)(2)?			es 🗶 No	
(5) Provide for any purpose other than religious, charitable, scientific, literary,	or educational purposes, or to		[52]	1 1
the prevention of cruelty to children or animals?			es 🗶 No	
b If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify und		n Regulations	37 / 3	
section 53.4945 or in a current notice regarding disaster assistance (see instru	•	-	N/A	5b
Organizations relying on a current notice regarding disaster assistance check h				
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption fr			l	1 1
expenditure responsibility for the grant?	•	/A Y	es L No	
If "Yes," attach the statement required by Regulations section 53.494	• •		ľ	
6a Did the foundation, during the year, receive any funds, directly or indirectly, to	pay premiums on		.	
a personal benefit contract?		Y	es 🗶 No 📙	
b Did the foundation, during the year, pay premiums, directly or indirectly, on a p	ersonal denetit contract?			6b X
If "Yes" to 6b, file Form 8870.	h - lk k k 0		es 🔀 No	
7a At any time during the tax year, was the foundation a party to a prohibited tax s		Y	Lane Control of the C	
b if "Yes," did the foundation receive any proceeds or have any net income attributed by the foundation of the state of th		nogoro Highli		7b
Paid Employees, and Contractors	ees, roundation wa	nagers, nigni	y	
1 List all officers, directors, trustees, foundation managers and their	compensation.	 _		
	(b) Title, and average	(c) Compensation	(d) Contributions to	(e) Expense
(a) Name and address	hòurs per week devoted to position	(If not paid, enter -0-)	(d) Contributions to employee benefit plans and deferred	(e) Expense account, other allowances
PARVEEN JAIN	CFO/SECRETARY		compensation	uno wanooo
2636 GAYLEY PLACE	010, 5201121121			
SAN JOSE, CA 95135	1.00	٥.	٥.	0.
	PRESIDENT			
2636 GAYLEY PLACE				
SAN JOSE, CA 95135	1.00	0.	٥.	0.
				1
	-	-	=	
	· · · · · · · · · · · · · · · · · · ·			~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~
	1			
2 Compensation of five highest-paid employees (other than those inc	luded on line 1). If none,	enter "NONE."		
(a) Name and address of each employee paid more than \$50,000	(b) Title, and average	(a) Componentia	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other
(a) Name and address of each employee paid more than \$50,000	hours per week devoted to position	(c) Compensation	and deferred compensation	allowances
NONE				
	L			
]	L		
			ļ	
	<u> </u>		<u> </u>	
Total number of other employees paid over \$50,000				0

Form 990-PF (2013) THE PARVEEN AND NEERAJ JAIN ENDOWMENT 47	-093426	4 Page 7
Part VIII Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors (continued)		
3 Five highest-paid independent contractors for professional services. If none, enter "NONE."		
(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c)	Compensation
NONE		
		
Total number of others receiving over \$50,000 for professional services Part IX-A Summary of Direct Charitable Activities	•	0
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc.	Ехрі	enses
1 THE FOUNDATION PROVIDED GRANTS TO VARIOUS CHARITABLE	_	
ORGANIZATIONS.	1	80,310.
2		
		
3	_	
4		
Part IX-B Summary of Program-Related Investments Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.	Amı	ount
1 N/A	AIII	Juni.
	1	-
2		
		<u> </u>
All other program-related investments. See instructions. 3		
Total, Add lines 1 through 3	<u> </u>	0.

Page 8 Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations, see instructions.) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes: a Average monthly fair market value of securities 1a 238,900. 33,019. b Average of monthly cash balances 1b c Fair market value of all other assets 1c 271,919. d Total (add lines 1a, b, and c) 1d e Reduction claimed for blockage or other factors reported on lines 1a and 0. 1c (attach detailed explanation) 1e Acquisition indebtedness applicable to line 1 assets 2 2 Subtract line 2 from line 1d 3 4 Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions) 267,840 Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4 5 13, Minimum investment return. Enter 5% of line 5 6 392. Part XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and certain and do not complete this part.) foreign organizations check here 1 Minimum investment return from Part X, line 6 13,392. 312 Tax on investment income for 2013 from Part VI, line 5 Income tax for 2013. (This does not include the tax from Part VI.) 2b 312 Add lines 2a and 2b 2c 13,080 Distributable amount before adjustments. Subtract line 2c from line 1 3 Recoveries of amounts treated as qualifying distributions 4 Add lines 3 and 4 5 13,080 Deduction from distributable amount (see instructions) 6 13,080 Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1 Part XII Qualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes: 180,310 a Expenses, contributions, gifts, etc. - total from Part I, column (d), line 26 1a Program-related investments - total from Part IX-B 1b Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes 2 2 Amounts set aside for specific charitable projects that satisfy the: 3 a Suitability test (prior IRS approval required) За 3b Cash distribution test (attach the required schedule) 180,310. Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income. Enter 1% of Part I, line 27b 5 312 179,998. Adjusted qualifying distributions. Subtract line 5 from line 4 6 Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section

Form **990-PF** (2013)

4940(e) reduction of tax in those years.

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2012	(c) 2012	(d) 2013
1 Distributable amount for 2013 from Part XI,		1 0010 p.101 to 2012		
line 7				13,080.
2 Undistributed income, if any, as of the end of 2013				13,000.
a Enter amount for 2012 only			0.	
b Total for prior years:	· -		0.	
g roal to prior yours.		0.		
3 Excess distributions carryover, if any, to 2013:			•	
a From 2008				
bFrom 2009 301.				· -
c From 2010 60,836.				
dFrom 2011 94,867.				
eFrom 2012 87,395.				
f Total of lines 3a through e	243,399.			
4 Qualifying distributions for 2013 from	243,333.			
Part XII, line 4: ►\$ 180, 310.				
a Applied to 2012, but not more than line 2a			0.	
b Applied to undistributed income of prior			U•	
years (Election required - see instructions)		0.		
· · · · · · · · · · · · · · · · · · ·				
c Treated as distributions out of corpus	0.			
(Election required - see instructions)	0.	·		12 000
d Applied to 2013 distributable amount	167,230.			13,080.
e Remaining amount distributed out of corpus	0.			
5 Excess distributions carryover applied to 2013 (If an amount appears in column (d), the same amount must be shown in column (a))	0.			0.
6 Enter the net total of each column as indicated below:		:		
& Corpus Add lines 3f, 4c, and 4e. Subtract line 5	410,629.			
b Prior years' undistributed income. Subtract		· · · · · · · · · · · · · · · · · · ·		····
line 4b from line 2b		0.		
c Enter the amount of prior years'				
undistributed income for which a notice of	1			-
deficiency has been issued, or on which the section 4942(a) tax has been previously	1			
assessed	Ì	0.		
d Subtract line 6c from line 6b. Taxable	-			
amount - see instructions		0.		
e Undistributed income for 2012. Subtract line				
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2013. Subtract				
lines 4d and 5 from line 1. This amount must				
be distributed in 2014				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3)	0.			
8 Excess distributions carryover from 2008				
not applied on line 5 or line 7	0.			
9 Excess distributions carryover to 2014.		·		
Subtract lines 7 and 8 from line 6a	410,629.			
10 Analysis of line 9:				· · · · · · · · · · · · · · · · · · ·
a Excess from 2009 301.				
b Excess from 2010 60,836.	1			
c Excess from 2011 94,867.	1			
d Excess from 2012 87,395.	İ			
e Excess from 2013 167, 230.	ł			
				Form 000 DE (0010)

		ERAJ JAIN E		47-09	34264 Page 10
Part XIV Private Operating For			A, question 9)	N/A	
1 a If the foundation has received a ruling or	determination letter that	it is a private operating			_
foundation, and the ruling is effective for	2013, enter the date of t	he ruling	▶		
b Check box to indicate whether the found	ation is a private operatir	ng foundation described in	section	4942(j)(3) or 494	12(j)(5)
2 a Enter the lesser of the adjusted net	Tax year		Prior 3 years		
income from Part I or the minimum	(a) 2013	(b) 2012	(c) 2011	(d) 2010	(e) Total
investment return from Part X for					
each year listed					
b 85% of line 2a					
c Qualifying distributions from Part XII,					
line 4 for each year listed					
d Amounts included in line 2c not					
used directly for active conduct of					
exempt activities					
e Qualifying distributions made directly					
for active conduct of exempt activities.					
Subtract line 2d from line 2c				:	
3 Complete 3a, b, or c for the	.=			· · · · · · · · · · · · · · · · · · ·	
alternative test relied upon:					
"Assets" alternative test - enter: (1) Value of all assets					
` '					
(2) Value of assets qualifying under section 4942(j)(3)(B)(i)					
b "Endowment" alternative test - enter 2/3 of minimum investment return					
shown in Part X, line 6 for each year					
c "Support" alternative test - enter:					
(1) Total support other than gross					
investment income (interest,				•	
dividends, rents, payments on securities loans (section					
512(a)(5)), or royalties)				1	
(2) Support from general public				-	· · · · · ·
and 5 or more exempt					
organizations as provided in section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from					-
an exempt organization				-	
(4) Gross investment income			-		
Part XV Supplementary Info	rmation (Comple	te this part only	f the foundation	had \$5,000 or mo	re in assets
at any time during t	he year-see instr	uctions.)			
1 Information Regarding Foundatio	n Managers:			_	
a List any managers of the foundation who		than 2% of the total contr	butions received by the	foundation before the clos	e of any tax
year (but only if they have contributed m	nore than \$5,000). (See s	ection 507(d)(2).)			•
SEE STATEMENT 8					
b List any managers of the foundation who	o own 10% or more of th	e stock of a corporation (or an equally large portio	n of the ownership of a pa	rtnership or
other entity) of which the foundation has	s a 10% or greater interes	s t .			
NONE_					
2 Information Regarding Contributi	on, Grant, Gift, Loan,	Scholarship, etc., Pr	ograms:	<u></u>	
Check here 🕨 🗶 If the foundation o	nly makes contributions t	to preselected charitable o	organizations and does n	ot accept unsolicited reque	ests for funds. If
the foundation makes gifts, grants, etc.	(see instructions) to indiv	riduals or organizations ui	nder other conditions, co	mplete items 2a, b, c, and	đ.
a The name, address, and telephone numl	ber or e-mail address of t	he person to whom applic	ations should be addres	sed:	
b The form in which applications should b	e submitted and informat	tion and materials they sh	ould include;		
c Any submission deadlines:					
d Any restrictions or limitations on awards	e euch as hy geographics	al areae charitable fields	kinde of inetitutions, er a	ther factore:	
e raily results at the manual total await as	o, oacii ao by ycuyiapillu	ii ai cas, ciiai nabit 116145,	นอ บา เกอนเนนับก่อ , ป1 0	uioi iaotolo,	

Form 990-PF (2013) THE PARVEEN AND NEERAJ JAIN ENDOWMENT

- are see appromonent y milorination				
3 Grants and Contributions Paid During the	ear or Approved for Future	Payment		
Recipient	If recipient is an individual,	Foundation	Purpose of grant or	
Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	status of recipient	Purpose of grant or contribution	Amount
a Paid during the year				
71 TV GRUNDER OF WARRIES OF TAXABLE	L			
JAIN CENTER OF NORTHERN CALIFORNIA	NONE	PUBLIC CHARITY	TO SUPPORT OPERATIONS	
722 SOUTH MAIN STREET MILPITAS, CA 95035				105 000
MIDELIAS, CA 33033		 		106,000.
SIDDHACHALAM	NONE	PUBLIC CHARITY	FOOD AND SUPPLIES	
65 MUD POND ROAD				
BLAIRSTOWN, NJ 07825				71,810.
INDIAN INSTITUTE OF SCIENCE ALUMNI	NONE	PUBLIC CHARITY	TO SUPPORT OPERATIONS	
ASSOCIATION OF NORTH AMERICA				
897 INDEPENDENCE AVE, 4 C				
MOUNTAIN VIEW, CA 94043	<u> </u>			2,500.
	;			
			-	
		:		
Total	· ·	· ·	▶ 3a	180,310.
b Approved for future payment				
NONE				
				
	<u></u>		<u> </u>	
Total			> 3b	0.

Part XVI-A **Analysis of Income-Producing Activities**

Enter gross amounts unless otherwise indicated.	Unrelate	d business income	Exclu	ded by section 512, 513, or 514	(e)
- · · · · 3 · · · · · · · · · · · · · · · · · · ·	(a) Business	(b)	(C) Exclu-	(d)	Related or exempt
1 Program service revenue:	code	Amount	sion code	Amount	function income
a					
b			<u> </u>		
C					
d					
e					
1					
g Fees and contracts from government agencies					
2 Membership dues and assessments					
3 Interest on savings and temporary cash					
investments	1				
4 Dividends and interest from securities			14	11,609.	
5 Net rental income or (loss) from real estate:	-			11,0030	
a Debt-financed property					
b Not debt-financed property		· ·			
6 Net rental income or (loss) from personal					
property					
7 Other investment income				· · · · · · · · · · · · · · · · · · ·	_
8 Gain or (loss) from sales of assets other					
than inventory			18	28,388.	
9 Net income or (loss) from special events			10	20,300.	
10 Gross profit or (loss) from sales of inventory					
11 Other revenue:			_		
a					
h			_		
			-		
d			 		
			-		
12 Subtotal. Add columns (b), (d), and (e)		0.	-	39,997.	0.
13 Total . Add line 12, columns (b), (d), and (e)			<u>_</u>		39,997.
(See worksheet in line 13 instructions to verify calculations.)				13	33,337.
Part XVI-B Relationship of Activities to	o the Acco	omplishment of Ex	emp	t Purposes	
Line No. Explain below how each activity for which incor	ma ic roported i	n column (a) of Part V/I A	oontrib	outed importantly to the second	unlichment of
the foundation's exempt purposes (other than I			CONTRIL	outed importaintly to the accom	iplishment of
The realisation of exempt purposes (other than t	by providing idi	——————————————————————————————————————			
					
· · · · · · · · · · · · · · · · · · ·			_		
					
		 _			
				<u> </u>	
		·· · · · · · · · · · · · · · · · · · ·			
					
	 			 -	"
				-	
					
			 .		
					
					
					-

Form 990-PF (2013) Part XVII In Information Regarding Transfers To and Transactions and Relationships With Noncharitable Exempt Organizations

	•		wing with any other organization	` '		Yes No
			527, relating to political organiz	zations?		
a Trans	fers from the reporting founda	ation to a noncharitable exempt	organization of:			
(1) C	ash	•			1a(1)	X
(2) 0	ther assets				1a(2)	X
b Other	transactions:					
(1) S	ales of assets to a noncharital	ble exempt organization			1b(1)	X
• •		ncharitable exempt organization	1	•	1b(2)	X
• •	ental of facilities, equipment,	· •	•		1b(3)	X
	eimbursement arrangements	•	•	-	1b(4)	X
٠,	oans or loan guarantees		•	•	1b(5)	X
•		embership or fundraising solicita	ations	•	1b(6)	$\frac{1}{X}$
• •		aling lists, other assets, or paid			10	$\frac{1}{X}$
		•		ays show the fair market value of the go		
						۶۱ ۵ ,
				in any transaction or sharing arrangem	ient, snow in	
		other assets, or services receive		T (4) -		
a)Line no	(b) Amount involved		ible exempt organization	(d) Description of transfers, transaction	s, and sharing an	angements
		N/A				
			<u> </u>			
				<u> </u>		
				_		-
		<u> </u>				
				 		
				 		
				 		
	<u></u>			 		
<u> </u>		 		 		
	<u>.</u>	<u> </u>				
						
		<u> </u>				
2a is the	foundation directly or indirect	tly affiliated with, or related to, o	one or more tax-exempt organiza	ations described		
ın sec	tion 501(c) of the Code (other	r than section 501(c)(3)) or in s	ection 527?		L Yes	X No
b If "Yes	s," complete the following sch					
	(a) Name of org	janization	(b) Type of organization	(c) Description of rela	ationship	
	N/A					
						
						
Tu	Inder penalties of perjury, I declare	that I have examined this return, incli	uding accompanying schedules and s	tatements, and to the best of my knowledge		
				ation of which preparer has any knowledge	May the IRS of return with the	e preparer
Here	X XQ.		* V12114	CFO/SECRETARY	shown below	
	Signature of officer or trustee	PANA	- 15°11		_ X Yes	U No
		• • ()	Date - T	Title Check Life Life	PTIN	
	Print/Type preparer's na	anne Preparer	s signature	,	T I IIN	
D-::		\[\]	4 275 (PM	self- employed	-04055	
Paid	DENNIS FIF				P01260	
Prepar		SON AND ISOM		Firm's EIN ► 94	-22221	22
Use Or						
	Firm's address ► 30	13 CERES AVENU	JE			
	CH	IICO, CA 95973		Phone no. (53	80)891-	6474
)-PF (2013)

Schedule B (Form 990, 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service **Schedule of Contributors**

▶ Attach to Form 990, Form 990-EZ, or Form 990-PF.
 ▶ Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.irs.gov/form990.

THE PARVEEN AND NEERAJ JAIN ENDOWMENT

OMB No 1545-0047

2013

Name of the organization

Employer identification number

47-0934264

Organization type (check one):						
Filers of	÷	Section:				
Form 99	0 or 990-EZ	501(c)() (enter number) organization				
		4947(a)(1) nonexempt charitable trust not treated as a private foundation				
		527 political organization				
Form 99	0-PF	X 501(c)(3) exempt private foundation				
		4947(a)(1) nonexempt charitable trust treated as a private foundation				
		501(c)(3) taxable private foundation				
Check if	Vour organization is	covered by the General Rule or a Special Rule.				
	_	7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule. See instructions.				
General	Rule					
X	For an organization contributor. Comple	filing Form 990, 990-EZ, or 990-PF that received, during the year, \$5,000 or more (in money or property) from any one ete Parts I and II.				
Special	Rules					
	509(a)(1) and 170(b	(3) organization filing Form 990 or 990-EZ that met the 33 1/3% support test of the regulations under sections (3)(1)(A)(vi) and received from any one contributor, during the year, a contribution of the greater of (1) \$5,000 or (2) 2% Form 990, Part VIII, line 1h, or (ii) Form 990-EZ, line 1. Complete Parts I and II.				
	For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, total contributions of more than \$1,000 for use exclusively for religious, charitable, scientific, literary, or educational purposes, or the prevention of cruelty to children or animals. Complete Parts I, II, and III.					
	For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions for use exclusively for religious, charitable, etc., purposes, but these contributions did not total to more than \$1,000. If this box is checked, enter here the total contributions that were received during the year for an exclusively religious, charitable, etc., purpose. Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively religious, charitable, etc., contributions of \$5,000 or more during the year					
but it mi	ust answer "No" on	hat is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF), Part IV, line 2, of its Form 990; or check the box on line H of its Form 990-EZ or on its Form 990-PF, Part I, line 2, to the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).				

LHA For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF. Schedule B (Form 990, 990-EZ, or 990-PF) (2013)

Employer identification number

THE PARVEEN AND NEERAJ JAIN ENDOWMENT

47-0934264

Part l	Contributors	(see instructions).	Use duplicate copies of	of Part I if additional	space is needed.
--------	--------------	---------------------	-------------------------	-------------------------	------------------

(a)	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1	PARVEEN AND NEERAJ JAIN 2636 GAYLEY PLACE SAN JOSE, CA 95135-1268	\$50,000.	Person X Payroll Noncash (Complete Part II for noncash contributions.)
(a) N o.	(b) Name, address, and ZłP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
202452 10.0		\$Sahadula B (Farm	Person Payroll Noncash (Complete Part II for noncash contributions.)

Employer identification number

THE PARVEEN AND NEERAJ JAIN ENDOWMENT

47-0934264

Noncash Property (see instructions). Use duplicate copies of Pa	irt ii ii additional space is needed.	
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	_(d) Date received
	 \$	
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
	(b) Description of noncash property given (b) Description of noncash property given (b) Description of noncash property given (b) Description of noncash property given (b) Description of noncash property given	Description of noncash property given S (c)

Name of organization Employer identification number THE PARVEEN AND NEERAJ JAIN ENDOWMENT

Part III

Exclusively religious, charitable, etc., individual contributions to section 501(c)(7), (8), or (10) organizations that total more than \$1,000 for the year. Complete columns (a) through (e) and the following line entry. For organizations completing Part III, enter the total of exclusively religious, charitable, etc., contributions of \$1,000 or less for the year. (Enter this information once) Use duplicate copies of Part III if additional space is needed. (a) No. from Part I (b) Purpose of gift (c) Use of gift (d) Description of how gift is held (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee (a) No. from (b) Purpose of gift (c) Use of gift (d) Description of how gift is held Part I (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee (a) No. from Part I (b) Purpose of gift (c) Use of gift (d) Description of how gift is held (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee (a) No. from Part I (d) Description of how gift is held (b) Purpose of gift (c) Use of gift (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee

The Parveen and Neeraj Jain Endowment Fund EIN 47-0934264 Form 990-PF, Part II, Line 10b Attachment Page 1 of 8

STOCKS								
COMMON STOCKS						lbreafized	Estimated	Dividend
Security Description	Trade Date	Quantity	Unit Cost	Total Cost	Market Value	Gain/(Loss)	Annual Income	Yield %
ALTRIA GROUP INC (MO)	6/1/09	174.000	\$17.220	\$2,996.28	\$6,679.86	\$3,683.58 LT		
	9/11/09	32.000	18.190	582.08	1,228.48	646.40 LT		
	3/28/13	44,000	34.370	1,512.28	1,689.16	176.88 SI		
	8/5/13	4.000	35.610	142.44	153.56	11.12 ST		
	Total	254.000		5,233.08	9,751.06	4,329.98 LT	487.68	9.00
denied beschied at 18 1000 not	V 1/0 1/10 0 00					188.00 ST		
ANNALY CAPITAL MINGRAT INC (NI V) 9/20/10 1/2/10	9/28/10	154 000	18 400	2,833,60	1.535.38	(1,298.22) LT		
	11/17/10	16.000	17.720	283.52	159.52	(124.00) LT		
	4/23/12	148 000	16.026	2,371.80	1,475.56	(896.24) LT		
	3/28/13	92.000	15.800	1,453.59	917.24	(536.35) ST		
	5/10/13	45.000	15.048	677.15	448.65	(228.50) ST		
	8/5/13	134.000	11.546	1,547.19	1,335.98	(211.21) ST		
	Total	589.000		9,166.85	5,872,33	(2,318.46) LT	706.80	12.03
						(976.06) ST		
Share Price \$9.970; Next Divioend Payable U1131114	511/31/14	000	34.500	20000	20 376 96	1 ANG 11 1 T		
AT&T INC (1)	6/1/03	35.000	26.430	62,808,2	3,373,30	166 25 1 7		
	9/11/09	9.000	28.410 28.210	282.10	351.60	69.50 LĬ		
	0/2/11	000.50	28 140	759 78	949.32	189.54 I T		
	1 1 7 7 6	27.000	20.140	0.00	70.70	(43.69) 57		
	3/28/13	28.000	36.720	1,028.16	984.48	(43.68) 51		
	5/10/13	3.000	37.240	111.72	105.48	(6.24) ST		
	8/5/13	8.000	35,586	284.69	281.28	(3.41) ST		
	Total	191,000		5,337,49	6,715.56	1,431.40 LT	351.44	5.23
Chara Price: £35 150: Next Dividend Parable 02/2014	de 02/2014					(53.33) ST		
Who of goll of the state	00/1/9	02 000	20.028	1 843 60	A RRG BO	3 046 30 I T		
DKISTOL MIEKS SQUIDE CO (DMI)	0/38/10	25.00	27.850	1 950 13	3 720 50	T 1 7 5 0 7 7 1		
	01/21/11	33,000	26.150	862.95	1.753.95	891.00 LT		
	5/10/13	13,000	40.320	524.16	690.95	166.79 ST		
	Total	000 802		5 180 74	11.055.20	5 707 67 1 1	299.52	2.70
		200:007				166.79 ST)
Share Price: \$53.150; Next Dividend Payabi	le 02/03/14	-						
CALIF WATER SVC GP DEL (CWT) 9/28/10	9/28/10	248.000	18.154	4,502.19	5,721.36	1,219.17 LT		
	9/2/11	28.000	18.150	508.20	645.96	137.76 L1		
	3/28/13	26.000	19.828	56.616	599.82	15.05.46		
	5/10/13	9.000	19.990	1,9.97	207.63	187777		

The Parveen and Neeraj Jain Endowment Fund EIN 47-0934264 Form 990-PF, Part II, Line 10b Attachment Page 2 of 8

Estimated Annual Income 194.40 256 50 167.28 199,04 207.00 131.58 LT 165.20 LT 1,356.93 LT 112.02 ST 3,035.36 LT 36.26 LT 3,071.62 LT 78.82 ST 976.18 LT 2,520.44 LT 3,027.09 LT 364.55 ST 2.50 ST 3,519.23 LT 48.24 ST 28.08 ST 22.61 LT 58,87 ST 58.87 ST 2.030.21 LT 3,252.96 LT 925.97 LT 34.00 ST 34.00 ST 2,350,49 LT 180.70 LT 364.55 ST 495.90 LT Unrealized Gain/(Loss) 2,009.26 4,749.16 4,352.99 974.55 649.70 5,176.17 635.67 91.33 323.45 388.14 Market Value 7,174.77 1,089.72 90.81 363,24 639.31 646.90 7,489.06 4,140.16 1,876.01 7,374.66 7,355.61 1.494.31 5,705.82 1,033.08 2,228.72 256.56 481.70 2,140 81 599.41 335.16 68.72 469.00 Total Cost 1,041.48 88.31 478.65 2,109.95 4,087.70 1,129.76 4,205.17 580,44 3,910.96 950.04 289.45 2,002,50 4,079.91 37.558 85.630 86.790 46.958 42.860 68.720 32.968 32.760 42.760 48.170 88.310 29.888 31.910 46.900 83,790 82.920 57.890 Cast Cost 49.120 57.000 7.000 12.000 1.000 **Quantity** 311.000 22.000 52.000 1.000 64.000 29.000 6.000 67.000 15.000 10.000 4.000 7.000 82,000 10,000 5.000 23.000 81.000 14.000 Trade Date 9/11/09 5/10/13 3/28/13 11/01/8 Share Price: \$91.330; Next Dividend Payable 02/03/14 DOMINION RES INC (NEW) (D) 6/1/09 3/28/13 Total Share Price: \$23.070; Next Dividend Payable 02/2014
CATERPILLAR INC (CAT) 6/1/09 Share Price: \$90.810; Next Dividend Payable 02/2014 DEERE & CO (DE) 6/11/09 9/11/09 3/28/13 9/11/09 Share Price: \$64.690; Next Dividend Payable 03/2014 DU PONT EI DE NEMOURS & CO (DD) 6/1/09 11/2/6 8/5/13 8/5/13 Total 9/2/11 9/2/11 Total 100 Total COMMON STOCKS (CONTINUED) Security Description

Dividend Yield % 2.64

2.23

3.47

2.77

(10.11) ST

1,987,96 LT 151,07 LT 66,07 LT

> 414.06 207.03 207.03

3,394.82 262.99 140.96

43.523 43.832 46.987

78.000 6.000 3.000

6/1/09 9/11/09 11/1/1/10

Share Price: \$64.970; Next Dividend Payable 03/2014 DUKE ENERGY CORP NEW (DUK) 6/1/09

217.14

72.380

3.000

3/28/13

5,382.78

The Parveen and Neeraj Jain Endowment Fund EIN 47-0934264 Form 990-PF, Part II, Line 10b Attachment

Page 3 of 8

STOCKS

COMMON STOCKS (CONTINUED)						9		
Security Description	Trade Date	Quentity	Unk Cost	Total Cost	Market Value	Umrealized Gain/(Loss)	Annual Income	Vield %
	5/10/13	4.000	71.910	287.64	276.04	(11.60) ST		
	8/5/13	1.000	71.430	71,43	69.01	(2.42) ST		
	Total	95.000		4,374,98	6,555.95	2,205.10 LT (24.13) ST	296.40	4.52
share Price: \$69.010; Next Dividend Payablı	ile 03/2014		,					
GENERAL ELECTRIC CO (GE) 9/2/11	9/2/11	253.000	15.766	3,988.70	7,091.59	3,102.89 LT		
	3/28/13	8.000	23.120	184.96	224.24	39.28 ST		
	5/10/13	17.000	22.760	386.92	476.51	89.59 ST		
	Total	278 000		4,560.58	7,792.34	3,102.89 LT 128.87 ST	244.64	3.13
hare Price: \$28.030; Next Dividend Payabk	te 01/27/14			!				
HAWAIIAN ELECTRIC IND (HE) 12/19/03	12/19/03	98.000	23.388	2,292.00	2,553.88	261.88 LT		
	6/1/9	26.000	17,850	464.10	677.56	213.46 LT		
	9/11/6	74,000	17.058	1,262.26	1,928,44	666,18 LT		
	11/17/10	8.000	22.190	177.52	208.48	30.96 LT		
	3/28/13	31.000	27.640	856.84	807.86	(48.98) ST		
	5/10/13	12.000	27.430	329.16	312.72	(16.44) ST		
	8/5/13	6.000	26.650	159.90	156.36	(3.54) ST		
	Total	255.000		5,541.78	6,645.30	1,172,48 LT	316.20	4.75
						(68.96) ST		
Share Price: \$26.060; Next Dividend Payable U3/2014	NE US/2014			***	10130	T 100 107		
INVESCO MORTGAGE CAPITAL INC (IVR)	1,01,1	18.000	18.130	325.34	42.44	(62.10) L1		
	Tr/2/6	275.000	15,425	10.715.4	4,037.00	(480.01) LI		
	5/26/13	28.000	20.650	578.20	411.04	(157.16) ST		
	8/5/13	109.000	15.407	1,679.33	1,600.12	T9.21) ST		
	Total	441.000		7,336.28	6,473.88	(542.11) LT	882.00	13.62
						(320 29) ST		
Share Price: \$14.680; Next Dividend Payable 01/28/14	le 01/28/14							
MERCK & CO INC NEW COM (MRK)	9/28/10	82.000	37.199	3,050.32	4,104.10	1,053.78 LT		
	11/17/10	25.000	34.760	869.00	1,251.25	382.25 LT		
	11/01/8	12.000	30.220	362.64	600.60	237.96 LT		
	9/2/11	2.000	32.440	64.88	100.10	35.22 LT		
	3/28/13	20.000	44.030	880.60	1,001.00	120.40 ST		
	Total	141.000		5,227.44	7,057.05	1,709.21 LT 120.40 ST	248.16	3.51

Share Price: \$50.050: Next Dividend Payable 01/08/14

The Parveen and Neeraj Jain Endowment Fund EIN 47-0934264
Form 990-PF, Part II, Line 10b Attachment Page 4 of 8

COMMON STOCKS (CONTINUED) STOCKS

	!	;	1		;	Unrealized	Estimated	Dividend
Security Description	Trade Date	Quantity	Unit Cost	local Cost	Market Value	CAMP(LOSS)	Allega income	Tield 76
ORANGE NEW (ORAN)	11/2/6	12.000	17.900	214.80	148.20	(66.60) LT		
	4/23/12	1.000	13.060	13.06	12.35	(0.71) LT		
	4/23/12	1.000	13.060	13 06	12.35	(0.71) LT		
	3/28/13	205.000	10.210	2.093.10	2,531.75	438.65 ST		
	3/28/13	205.000	10.210	2,093.10	2,531.75	438.65 ST		
	8/5/13	36,000	9.860	354.97	444.60	89.63 ST		
	Total	460.000		4,782.09	5,681.00	(68.02) LT	241.96	4.25
						966.93 ST		
Share Price: \$12.350								
PFIZER INC (PFE)	6/1/09	32.000	14.888	476.40	980.16	503.76 LT		
	9/11/09	6.000	16.310	94.86	183.78	85.92 LT		
	9/28/10	214.000	17.376	3,718.46	6,554.82	2,836.36 LT		
	11/17/10	36.000	16.560	596.16	1,102.68	506.52 LT		
	9/2/11	10.000	18.520	185.20	306 30	121.10 LT		
	5/10/13	14.000	28.635	400.89	428.82	27.93 ST		
	Total	312,000		5,474.97	9,556.56	4,053.66 LT	324.48	3.39
						27.93 ST		
Share Price: \$30.630; Next Dividend Payable	03/2014							
PG&E CORPORATION (PCG) 6/1/09	60/1/9	91.000	37.618	3,423.24	3,665.48	242.24 LT		
	9/11/09	000.6	40.070	360,63	362.52	1.89 LT		
	8/10/11	23.000	39.230	902.29	926.44	24.15 LT		
	9/2/11	5.000	41,480	207.40	201.40	(e.00) LT		
	3/28/13	20.000	44.400	888.00	805.60	(82.40) ST		
	8/5/13	1.000	45.620	45.62	40.28	(5.34) ST		
	Total	149.000		5,827.18	6,001.72	262.28 LT (87.74) ST	271.18	4.51
Share Price: \$40,280; Next Dividend Payable 01/15/14	01/15/14							
POTASH CP OF SASKATCHEWAN INC (POT)	8/5/13	230.000	29.596	6,807.17	7,580.80	773.63 ST	322.00	4.24
Share Price: \$32.960; Next Dividend Payable	02/2014							
ROYAL DUTCH SHELL PLC CL B (RDS'B) 8/10/11	8/10/11	34.000	62.221	2,115.52	2,553.74	438.22 LT		
	9/2/11	2.000	66.250	132.50	150.22	17.72 LT		
	3/28/13	12.000	66.840	802.08	901.32	99.24 ST		
	8/5/13	2,000	67 020	134.04	150.22	16.18 ST		
	Total	20.000		3,184,14	3,755.50	455.94 LT	180.00	4.79
						115.42 ST		
Share Price: \$75.110								

The Parveen and Neeraj Jain Endowment Fund EIN 47-0934264
Form 990-PF, Part II, Line 10b Attachment Page 5 of 8

STOCKS
COMMON STOCKS (CONTINUED)

COMMON STOCKS (CONTINUED)							ie ie ie ie ie ie ie ie ie ie ie ie ie i	1
Security Description	Trade Date	Quantity	Unit Cost	Total Cost	Market Value	Gain/(Loss)	Annual Income	Yield %
SEADRILL LTD (SDRL)	8/10/11	56.000	28.051	1,570.88	2,300.48	729.60 LT		
	3/28/13	21.000	37.280	782.88	862.68	79.80 ST		
	Total	77.000		2,353.76	3,163.16	729.60 LT	292.60	9.25
		_				79.80 ST		
Share Price: \$41.080; Next Dividend Payable 03/2014	ble 03/2014							
SOUTHERN CO (SO)	9/11/09	81.000	31.069	2,516.55	3,329.91	813.36 LT		
	3/28/13	12.000	46.670	560.04	493,32	(66.72) ST		
	5/10/13	6.000	45.960	275.76	246.66	TS (01.62)		
	8/5/13	3.000	44.120	132.36	123.33	(9.03) ST		
	Total	102.000		3,484.71	4,193.22	813.36 LT	207.06	4.93
Chara Brica: £41 110: Next Dividend Pavat	10 0372014					(104.85) 51		
SOUTHERN COPPER CORP (SCCO) 6/1/09	60/1/9	89.000	22,325	1,986.95	2,555.19	568.24 LT		
	8/10/11	80,000	28,999	2,319,91	2,296.80	(23.11) LT		
	5/10/13	37 000	33.206	1,228.63	1,062.27	(166.36) ST		
	8/5/13	52.000	26.379	1,371.72	1,492.92	121.20 ST		
	Total	258.000		6,907.21	7,407.18	545.13 LT	175.44	2.36
						(45.16) ST		
Share Price: \$28.710; Next Dividend Payab	ole 02/2014							
VERIZON COMMUNICATIONS (VZ) 6/1/09	6/1/9	83.000	27.532	2,285.17	4,078.62	1,793,45 LT		
	6/11/6	19.000	29.061	552.16	933.66	381.50 LT		
	9/28/10	15.000	32.810	492.15	737.10	244.95 LT		
	11/17/10	7.000	32.170	225.19	343.98	118.79 LT		
	9/2/11	6.000	35.600	213.60	294.84	81.24 LT		
	8/5/13	5.000	50.170	250.85	245.70	(5.15) ST		
	Total	135.000		4,019.12	6,633.90	2,619.93 LT (5.15) ST	286 20	4.31
Share Price: \$49,140; Next Dividend Payable 02/2014	ыв 02/2014							
		Percentage of Assets %		Total Cost	Market Value	Unrealized Gain(Loss)	Estimated Angual Income Accrued Interest	Yeld %
STOCKS		70.1%		\$116,789.13	\$158,757.36	\$40,437.87 LT \$1,530.36 ST	\$7,157.98 \$0.00	4.51%

The Parveen and Neeraj Jain Endowment Fund EIN 47-0934264 Form 990-PF, Part II, Line 10b Attachment Page 6 of 8

Security Description	Trade Date	Quantity	Unit Cost	Total Cost	Market Value	Unrealized Gain/(Loss)	Estimated Annual Income	Dividend Yield %
ALLIANZGI CVRINC II (NCZ)	9/28/10	778.000	\$9.133	\$7,105 63	\$6,986.44	\$(119.19) LT		
	01/71/10	35.000	8.890	311.15	314.30	3.15 LT		
	11/01/8	84.000	7.827	657.48	754.32	96.84 LT		
	11/2/6	1.000	8 440	8.44	8.98	0.54 LT		
	3/28/13	125.000	8.668	1,083.50	1,122.50	39.00 ST		
	8/5/13	9.000	8.782	79.04	80.82	1.78 ST		
	Total	1,032.000		9,245.24	9,267.36	(18.66) LT	1,052,64	11.35
Share Price: \$8.980: Next Dividend Payable 0	11/02/14					40.7031		
EATON VANCE TAX ADV GLBL DIV (ETG) 9/11/09	9/11/09	494.000	12.924	6,384.46	8,368.36	1,983.90 LT		
	9/28/10	29.000	13.808	400.43	491.26	90.83 LT		
	11/2/6	31.000	13.630	422.53	525.14	102.61 LT		
	5/10/13	12.000	16.150	193.80	203.28	9.48 ST		
	8/5/13	4.000	15.940	63.76	67.76	4.00 ST		
	Total	570.000		7,464.98	9,655.80	2,177.34 LT 13,48 ST	701 10	7.26
Share Price: \$16,940; Next Dividend Payable	01/2014							
EATON VANCE TAX MCD DIV EQU FD (EXG) 9/11/09	9/11/09	293.000	8.552	2,505.69	2,930.00	424.31 LT R		
	9/28/10	240.000	8.654	2,077.06	2,400.00	322.94 LT R		
	11/01/1	235.000	7.238	1,700.90	2,350.00	649.10 LT R		
	11/2/1	92.000	7.660	704.73	920.00	215.27 LT R		
	3/28/13	82.000	9.358	767.36	820.00	52.64 ST		
	8/5/13	1.000	9.610	9.61	10.00	0.39 ST		
	Total	943.000		7,765.35	9,430,00	1,611.62 LT	920.37	9.76
	7,000,00					53.03 51		
Share Price: \$10,000; Next Dividend Payable U1/2014	0112014							
NUVEEN REAL EST INC FD (JRS)	9/2/11	314,000	9.740	3,058.36	2,989.28 304.64	(69.08) LT (93.44) ST		
	3/26/13	32.000	14.440	250,050	465.48	(5 (1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		
	8/5/13	49.000	- / 4.	202.00	400.10	5 (50.56)		

The Parveen and Neeraj Jain Endowment Fund Form 990-PF, Part II, Line 10b Attachment EIN 47-0934264 Page 7 of 8

EXCHANGE-TRADED & CLOSED-END FUNDS (CONTINUED)

			4 1 1	1000		Unrealized	Estimated	Dividend
Security Description	Trade Date	Quantity	Unit Cost	I otal Cost	Market Value	Cady(Loss)	Mainal Income	S DIGHT
	Total	395,000		4,018.52	3,760.40	(69.08)	355.50	9.45
						(189.04) ST		
Share Price. \$9.520; Next Dividend Payable 03/2014	03/2014	_						
THE FINANCIAL SEL SECT SPDR FD (XLF) 6/1/09	6/1/9	178.000	12.410	2,208.93	3,891.08	1,682.15 LT		
	9/28/10	129.000	14.400	1,857.60	2,819.94	962.34 LT		
	11/01/8	109.000	12,437	1,355.63	2,382,74	1,027.11 LT		
	9/2/11	84.000	12.616	1,059.76	1,836.24	776.48 LT		
	Total	500.000		6,481.92	10,930.00	4,448.08 LT	160.50	1,46
Share Price: \$21.860; CG IAR Status: AL; Next Dividend Payable 03/201	ext Dividend Payable 0	3/2014						
		Percentage				Unrealized	Estimated Annual Income	
		of Assets %		Total Cost	Market Value	Gain/(Loss)	Accrued Interest	Yield %
EXCHANGE-TRADED & CLOSED-END FUNDS	FUNDS	19.0%		\$34,976.01	\$43,043.56	\$8,149.30 LT	\$3,190.11	7.41%
						TS (31.78)	\$0.00	

MUTUAL FUNDS

OTHER MUTUAL FUNDS
"Total Purchases vs Market Value" is provided to assist you in companing your "Total Purchases," excluding reinvested distributions, with the current value of the mutual fund positions in your account

"Cumulative Cash Distributions" when shown, may reflect distributions on shares no longer held in the account. It may not reflect all distributions received in cash; due to but not limited to the following: investments made prior to addition of this information on statements, securities transfers, timing of recent distributions, and certain adjustments made in your account.

"Net Value Increase/ (Decrease)" reflects the difference between your total purchases, and the sum of the current value of the fund's shares, and cash distributions shown. This calculation is for Informational purposes only and does not reflect your total unrealized gain or loss nor should it be used for tax purposes. Dividend Unroalized

Security Description	Trade Date	Quantity	Unit Cost	Total Cost	Market Value	Gain/(Loss)	Annual Income	Yield %
IVA WORLDWIDE A (IVWAX)	9/28/10	545,379	\$16.050	\$8,753.34	\$9,718.65	\$965.31 LT		
	11/2/9	140.142	16.370	2,294.12	2,497.33	203.21 LT		
	8/16/12	313.650	15 880	4,980.76	5,589.24	608.48 LT		
	3/28/13	38.560	16.880	650.90	687.13	36.23 ST		
	5/10/13	5.639	17.331	97.73	100.48	2.75 ST		
	Purchases	1,043.370		16,776.85	18,592.83	1,777.00 LT 38.98 ST		
Long Term Reinvestments		242.769		3,788.52	4,326.14	537.62 LT		

The Parveen and Neeraj Jain Endowment Fund EIN 47-0934264 Form 990-PF, Part II, Line 10b Attachment Page 8 of 8

MUTUAL FUNDS

OTHER MUTUAL FUNDS (CONTINUED)

	Acceptance of the second	4	1	Teach least	Mandage Market	Unrealized	Estimated	Dividend Violate
Security Description	FROE DATE	Country	Chantery Only Cost	19191 (491	Market Value	Complement of the CT	DI INNII DONIE	2 200
Short Term Reinvestments		55.054		971.17	991./5	20.58 51		
	Total	1,341.793		21,536.54	23,910.75	2,314,62 LT 59,56 ST	271 00	1.13
Total Purchases vs Market Value				16,776.85	23,910.75			
Net Value Increase/(Decrease)					7,133.90			
Share Price: \$17 820; Enrolled in MS Dividend Reinvestment; Capital Gains Reinvest	ividend Reinvestment; (Capital Gains Reinvest						
		Perrentare				(Jernastized	Estimated Annual Income	
		of Assets %		Total Cost	Market Value	Gain/(Loss)	Accrued Interest	Yield %
MITIAL FINDS	era e de la care i marantamentamentamentamental de distribuidad de la care de la care de la care de la care de	10.6%		\$21,536.54	\$23,910.75	\$2,314.62LT	\$271.00	1.13%
						\$59,56 ST	\$0.00	

Transactions in mutual fund positions held directly at the Fund Company are not included in the total above and are not reflected on the Summary Page. For more information about the pricing of Money Market Funds, please see the Expanded Disclosures.

	Percentage of Assets %	Total Cost	Market Value	Unvealized Gain/Loss)	Acrued Income	Yield %
TOTAL MARKET VALUE	100.0%	\$173,301,68	\$225,711.65	\$50,901.79 LT \$1,508.17 ST	\$10,619.09 \$0.00	4.69%

FORM 990-PF	GAIN OF	(LOSS)	FROM	SALE	OF AS	SETS		STA	ATEMENT	1
(A) DESCRIPTION OF PROI	PERTY					NNER UIRED		TE UIRED	DATE	SOLD
PUBLICLY TRADED SEC	CURITIES				'					
(B) GROSS SALES PRIC	COS	C) ST OR BASIS	EX	(D) SPENSE SALE	OF	(E)	c.	GAIN	(F) OR LO	SS
97,3	397.	69,594	•		0.		0.		27,	803.
CAPITAL GAINS DIVII	DENDS FROM	PART IV			-					585.
TOTAL TO FORM 990-F	PF, PART I,	LINE 6	A						28,	388.
700W 000 DT									<u> </u>	
FORM 990-PF	DIVIDENI	S AND I	NTERE	ST FRO	OM SEC	URITIE	S 	STA	ATEMENT	2
SOURCE	GROSS AMOUNT	CAP	ITAL INS	RI	OM SEC (A) EVENUE R BOOK	NET	(B) INVE T INC	ST-	(C) ADJUS NET IN	TED
	GROSS	CAP GA DIVI	ITAL INS	RI S PEI	(A) EVENUE	NET S MEN	(B)	ST-	(C) ADJUS	TED
SOURCE MORGAN STANLEY	GROSS AMOUNT	CAP GA DIVI	ITAL INS DENDS	RI PEI	(A) EVENUE R BOOK	NET S MEN	(B) INVE T INC	ST- OME	(C) ADJUS	TED
SOURCE MORGAN STANLEY 012036	GROSS AMOUNT	CAP GA DIVI	ITAL INS DENDS 585	RI PEI	(A) EVENUE R BOOK 11,60	NET S MEN	(B) INVE T INC	ST- OME 09.	(C) ADJUS	TED
SOURCE MORGAN STANLEY 012036 TO PART I, LINE 4	GROSS AMOUNT	CAP GA DIVI	ITAL INS DENDS 585 585 UNTIN	RI PEI	(A) EVENUE R BOOK 11,60	9. 9.	(B) INVE T INC	ST- OME 09. 09.	(C) ADJUS NET IN	TED COME
SOURCE MORGAN STANLEY 012036 TO PART I, LINE 4 FORM 990-PF	GROSS AMOUNT	CAP GA DIVI	ITAL INS DENDS 585 585 UNTIN	RI PEI	(A) EVENUE R BOOK 11,60 11,60 S B) NVEST-	S MEN' 9. 9. ADA	(B) INVE T INC 11,6 11,6	ST- OME 09. 09.	(C) ADJUS NET IN ATEMENT (D) CHARIT	TED COME

FORM 990-PF C	OTHER PROFES	SIONAL FEES	···································	STATEMENT	4
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITAB PURPOSE	
INVESTMENT MANAGEMENT FEES	4,136.	4,136.			0.
TO FORM 990-PF, PG 1, LN 16C =	4,136.	4,136.			0.
FORM 990-PF	TAX	ES	STATEMENT		
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITAB PURPOSE	
FOREIGN TAX	56.	56.	<u> </u>		0.
_					
TO FORM 990-PF, PG 1, LN 18 =	56.	56.			0.
TO FORM 990-PF, PG 1, LN 18 =	56. OTHER E	-		STATEMENT	•
TO FORM 990-PF, PG 1, LN 18 =		-	(C)		6 BLE
TO FORM 990-PF, PG 1, LN 18 = FORM 990-PF DESCRIPTION	OTHER E (A) EXPENSES	XPENSES (B) NET INVEST- MENT INCOME	(C) ADJUSTED	CHARITAB PURPOSE	6 BLE
TO FORM 990-PF, PG 1, LN 18 = FORM 990-PF DESCRIPTION INVESTMENT EXPENSE	OTHER E (A) EXPENSES PER BOOKS	XPENSES (B) NET INVEST- MENT INCOME	(C) ADJUSTED	CHARITAB PURPOSE	6 BLE
TO FORM 990-PF, PG 1, LN 18 = FORM 990-PF DESCRIPTION INVESTMENT EXPENSE TO FORM 990-PF, PG 1, LN 23	OTHER E (A) EXPENSES PER BOOKS 2,442.	(B) NET INVEST- MENT INCOME 2,442.	(C) ADJUSTED NET INCOME	CHARITAB PURPOSE	6 BLE SS
-	OTHER E (A) EXPENSES PER BOOKS 2,442.	(B) NET INVEST- MENT INCOME 2,442. 2,442.	(C) ADJUSTED NET INCOME	CHARITAB PURPOSE	6 BLE S:S 0.
TO FORM 990-PF, PG 1, LN 18 = FORM 990-PF DESCRIPTION INVESTMENT EXPENSE TO FORM 990-PF, PG 1, LN 23 FORM 990-PF	OTHER E (A) EXPENSES PER BOOKS 2,442. 2,442. CORPORAT	(B) NET INVEST- MENT INCOME 2,442. 2,442.	(C) ADJUSTED NET INCOME	STATEMENT (D) CHARITAB PURPOSE STATEMENT FAIR MARKET	6 BLE SS 0.

FORM 990-PF

PART XV - LINE 1A LIST OF FOUNDATION MANAGERS STATEMENT

NAME OF MANAGER

PARVEEN JAIN NEERAJ JAIN